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Q1- There are two type of milk costing Rs 70/kg and Rs 50/kg. 1f two
types of milk are mixed the price of mixture is Rs 55/kg then find the

ratio in which two types of milk are mixed.

T 1- 70 ®9/feRelt HIT 50 T Tohetl o &1 T o g8 8 Al 1 T oh
o1 h THreATaT SITaT &, foeror 61 qet 55 %92/fohT €, 1 a8 179Td 1

shifTer forem 21 JehT o g fHizra &

A.1:1
B.1:2
C.1:4
D.1:5
E. None of these
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Q2- A person have two type of rice costing Rs 45/kg and Rs 80/kg. In
what ratio must he mix them so that he will gain 20% after selling the

mixture at Rs 72/kg.

T 2- Teh Y ih oh UTH & YhT oh TS & [SHehl shiAd 45 9/ fohaiumd
3T 80 FU/fohetiTma 31 THreroT Rt 72 T3/ formm ox s o o1e 36 20% Rl
AT ITH =T o ToTT 3 378 Tohr ST # feTn =Imiee?

A.4:3

B.5:4

C.3:4

D.3:2

E. None of these
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Q3- A shopkeeper mixes two types of rice costing Rs 40/kg and Rs 47.50/kg
respectively in such a way that he has 15 kg of the blended rice costing Rs
645 . What 1s the weight of rice that cost him Rs 47.50/kg.

Q3. T R SHATT: 40 9/ fhetTTd 3 47.50 T/ fhet 1o He aTed &f

YR oh T i 56 Yeh I (HATAT & Toh 39k U9 6456@1@4 A 15 Tereom

futsra =maer €| Tad o1 oo T © fSreehl Shima S8 47.50 w9/ foret 82

A.5

B. 6

C. 10

D.9

E. None of these
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Q4- Two container have mixture of milk and waterinratio3 : 2 and 6 : 5
respectively. In what ratio must he mix them so that ratio of milk and water
in final mixture becomes 4 : 3.

Q4- T STciHT H g ST T ot fHer01 Sharsl: 3: 2 37T 6: 5 o AUTd 4 =1 3H 3%
fehar 1T W foretTa =hew drien ifem foeror # gor M art <61 o1qrd 4: 3 =1

T2

A.6:13
B.9:14
C.10:11
D.5:8

E. None of these
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Q5- The ratio of acid and water 1n the solutions in vessels Aand Bi1s 4 : 5
and 5 : 1 respectively. A new solution i1s obtained by mixing 5 liter and 4
liter from A and B then what is the ratio of acid and water in new mixture.
T 5- AT A 3R B o ToieIT § 3TreT 3 ST 3hT STAT ShART: 4430 5 AT 543 1
2l A 3T B ¥ 5 ofieX 31 4 ofiel i Tttt Uan -1 9iet ITH fohdT STTaT 8, ot 1T
20T T STReT ST T 3T STT /T &2

A.9:4

B. 50 : 31
C.25:16
D.15:8

E. None of these
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Q6- In what ratio sugar costing Rs 42/kg and Rs 60/kg be mixed so that
there 1s a profit of 12% after selling the mixture at Rs 56/kg.

Q6- 42 TR/fehedl 3R 60 T/ fercdl shT hIHd STeiT Tkt ohi foh®l ITUTT H
Torerran St fo6 forsror et 56 SR/ foRedt OX S W 12% o1 ST &1

A.9:8
B.6:5
C.7:5
D.5:4
E. None of these
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Q7- A person have milk at cost Rs 72/liter. In what ratio must he mix water

so that there 1s a profit of 20% after selling the mixture on cost price.
S 7- Weh o4 1eh oh T 72 /A 2l STHTA STt g4 21 FHeror shi 3hef Hedl W
ST= o S1E 6 20% T AT HTH HL o ToTq 3 I ohi {ohel STTATT | FeTr

ITET?

A.1:5
B.5:1
C.2:3
D.3:4
E. None of these
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Q8- The average weight of some members in a group 1s 86 kg. If 4 new
member pf total weight 320 kg also included then average weight decreased
by 1 kg. Find the total number of members.

Q8- T EHE W % HaRA| oAl ST R 86 TohUT 21 Afe e ISt 320 fohetl o 4
70 e AU skl ot eferet foram Sirar @ b 3fted 9=+ 1 forcll 7| gl ST 2
HEE shi el FEAT J1d hi 19|

A. 20

B. 4

C. 16

D. 24

E. None of these
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Q9- A person sold 40 books and 32 pen at Rs 720. He sold books at 25%
profit and pen at 7/5 of the cost of pen. If the total profit i1s Rs 240 then find

cost price of one pen.
Q- Ueh 54 1<h = 40 Tieh X 32 HieTH 720 T H sI<i1| T8 Teiehl ohl 25% A
T 3T AT 1 FHeTH ol ATTA o 7/5 T =T 8l Afe el A 240 T & A Th

HTH 1 6T T T ohi (91|

A. Rs 30
B. Rs 40
C. Rs 25
D. Rs 20
E. None of these
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Q10- A person bought two article at Rs 1800. He sells first at 4/5 of its cost
price and other at 5/4 of its cost price. He have ovelall profit Rs 180 then
find cost price of first article.

Q10- T 341k 1 1800 % H a1 SR, GRIET| T8 Tt oh $6eh 563 Hedl o 4/5 T
37T B 1 g8k ShT 9 o 5/4 W SI=IdT &l SHeh UTH 180 9 o1 ST AT

2, T gt a&q 1 6 Hed 914 it

A. Rs 1200

B. Rs 600

C. Rs 900

D. Rs 800

E. None of these
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